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L + i J— 0
=2gHRN-7I0A (12) [GNITN  weoms  [9ER| F = EenlEe
HJM — 8X1/a 8 | Va o 7] 7 |26 | 23 | 336
L | HJM — 8x%/s 8 | % T 7| 7 | 28 | 24 | 345
5 HJM — 10X1/4 10 | Va T T 9| 7 | 28 | 24 |355
HJM — 10x3/s 10 | 9s T 9| 7 | 28 | 24 | 355
A HJM — 10X1/2 10 | /e 7| o 9 | 7 | 34 | 29 | 405
h HJM — 12x1/a 12 | V/a I 2 7 [ 28 [ 24 [365
HJM — 12x3/s 12 | 98 L 2| 7 | 28 | 24 | 355
& HIM—12xi/z2 | 12 | /2 | 2 51 7 [ 34 | 29 4056
& HJM — 156x3/s 15 | %/s || 2 7 | 75| 33 | 29 415
il HJM — 16%1/2 15 | /2 v o 71 75| 34 | 29 |415
: ; - HJM — 16%3/a 16 | %s il 2 0 | 75| 36 | 32 | 445
HJM — 16x1/2 16 | /e | 2 D | 75| 38 | 32 | 445
! = HJM — 18X1/2 18 | /2 |2 2 8 | 38 | 32 | 445
HJM — 20x3/a | 20 | %a i 1 3 61 8 | 41 | 33 |465
HIM —22x1/2 | 22 | /2 i : B | 9 | 40 | 34 | 465
. H HIM — POx3/a | 22 | 3/a i | a3 B | 9 | 42 | 34 | 465
- HIM — B5x3/a | 25 | 3/a T 1 110 | 44 | 36 | 495
= HIM — 25x 1 25 | 1 T 1 110 | 46 | 36 | 495
- )i HJM — 28x3/4 | 28 | 9/a i 4 & |10 | 47 | 41 |55
HJM — 28%1 28 | 1 4 B |10 | 49 | 41 |55
HJM — 30x%4 | 30 | 9/a i 4 6 |10 | 47 | 41 |565
B HJM — 30x1 30 | 1 4 6 |10 | 49 | 41 |555
HJM — 32%1 g2 | 1 4t 0 |11 | 54 | 46 605
%Average Values HJM — 32x11/4 | 32 | 11/a i a4 0 |11 | 56 | 46 | 605
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i TERESEA FRfh EREHEA
HEOWY ol g T it 8 UFORU mraln gl ©
1 C— 4 4 MIOX1.25] 12 | 105 - a4 4 7
C- 6 8 Mi2x15 | 14 |15 = B 5 g
C— 8 8 MI4x15 | 17 |15 3= 8 8 g
\ C—10 0 MIBx15 | 19 |16 F=10 10 0
C—12 2 MiBx15 | 22 |16 =19 2 10
c-15 56 M22x15 | 27 |19 3-15 15 10
cC-16 16 M24x1.5 | 30 |19 3=16 6 10
C—18 18 M26x1.5 | 32 |19 3-18 8 10
< C—20 20 M28x1.5 | 36 |19 < 3-20 20 10
C—22 99 M30x1.5 | 36 |19 —2p 22 0
s cC—25 256 M35x1.56 | 41 |20 J-25 25 1
C—28 28 M38x1.5 | 46 |21 J-—28 28 1
A\ C—30 30 M40x1.5 | 46 |22 3—30 30 1
\_H c—32 32 M42x15 | 5O |22 1-32 32 1
c—35 35 M45x15 | 55 | 25 3-35 35 14
C-38 38 M48x1.5 | B0 |27 J-a8 38 14
C—40 40 M52x2 | 60 | 29.6 J-40 40 14
C-42 42 MB2x2__| 60 |29.5 J-—42 42 14
C-50 50 MB4x2__ | 75 |31.6 -850 50 14
C-1/s a [ 1056 |[M16x15 | 19 |16 - /s /s 105 ] 10
C—1/a /a | 138 |M2Ox15 | P4 |18 Y= 1/a /2 [138] 10
C-9s 38 | 17.3 |[M26x15 | 32 | 19 J—3/s 3s [17.3] 10
C—1/2 /2 | 21.7 [M30x15 | 36 |19 3= 1/2 /2 [21.7] 10
C—9a 3a | 27.2 |M38X1.5 | 46 |21 I—3/a 3a | 272 11
c—1 7 | 340 |M45x15 | 55 |25 -1 1_|340] 14
C—11/a | 1/a|42.7 |[MB6x2 | 65 | 305 d—1Va |1Va|427 ]| 14
#Average Values — C—11/a | 11/2 | 486 |MB4x2 | 75 | 3156 Value: Y—11/2 |1/2|486] 14
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